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FEH 13 1 14
45 BRI S IRER 2 2 4
e R E R 2 2
A&t 15 2 3 20
FEH 16 1 1 18
5K EIRREIRER
e R E RS 2 2
A&t 18 1 1 20
FEH 5 1 6
65 RB R ikE & 1k /5
e R E RS 3 1 4
A&t 8 2 10
FEH 8 1 9
78 RB R ikE & 1k /5 1 1
e R R HERE
A&t 8 1 1 10
FEH 7 1 8
8H EiIRREIRER
e R R E KRS
A&t 7 1 8
FEH 10 10
9oH RB IR ikE & 1R B /5
e SRR E B RS 1 1
A&t 11 11
FZEH 5 2 7
105 EIRREIRER 1 1 2
I EERRERE 1 1 2
A&t 7 1 3 11
FEH 5 1 6
" EIRREIRER 1 1
I EERRERE 1 1 1 3
A&t 6 1 1 1 1 10
FEH 5 2 7
125 EIRMLEIRER 1 1
I EERRERE
A&t 5 3 8
FEH 6 6
A RIRREIRER 1 1
e IRE KA 1 1
A&t 7 1 8
FEH 7 1 8
2K RIRREIRER
e R E A 1 1 2
A&t 7 1 2 10
FEH 7 1 8
35 EIRLEIRER 1 1
e A RS 2 2
B&t 9 1 1 11
FEH 94 2 2 9 107
e EIRLEIRER 1 4 1 4 1 11
e RE 13 2 4 19
= 108 6 2 3 17 1 137
HRIGHEERHRIEEAEE A
EET W EEY)




